



ARIZONA DEPARTMENT OF TRANSPORTATION
PROJECT DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025029

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 CH BIS	T052401C BIS-0-(205)T	LOCAL	COCHISE	SOUTHEAST	0		Jesmin Farhana

Highway Termini	Location	Work Description
• CITY OF BISBEE	• MOON CANYON BRIDGE 10538	• BRIDGE REPLACEMENT

BID RESULTS FOR 2025029

Bid Opening Date : 11/21/2025, Prequalification Required, Engineer Specialist : Jesmin Farhana

Completion Date:

85 Working Days

The proposed project is located in Cochise County on Moon Canyon Road at the intersection with Tombstone Canyon Road in the City of Bisbee. The work consists of replacing the existing bridge, bridge barrier and reconstructing the roadway approaches.

Bid Rank	Compared To Department Estimat	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$735,042.80	DEPARTMENT ESTIMATE	\$735,042.80
1	-9.6%		\$664,769.00	C S CONSTRUCTION, INC. 22023 N 20TH AVE SUITE A PHOENIX, AZ 85027-	\$664,769.00
2	+415.3%		\$3,787,740.00	MERIDIAN ENGINEERING COMPANY 3855 NORTH BUSINESS CENTER DRIVE TUCSON , AZ 85705-	\$3,787,740.00

Winning Bidder is 9.6% Under Department Estimate (Difference = (\$70,273.80))

*** Bid Tabs for Proposal Pamphlet 2025029 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020025	SQ.FT.	REMOVAL OF CONCRETE SIDEWALKS, DRIVEWAYS AND SLABS				
Bid Rank	Department Estimate		508.000	\$25.000	\$12,700.00	
1	C S CONSTRUCTION, INC.			\$20.500	\$10,414.00	-18.0%
2	MERIDIAN ENGINEERING COMPANY			\$100.000	\$50,800.00	+300.0%
2020120	L.FT.	REMOVE (SAFETY RAIL)				
Bid Rank	Department Estimate		39.000	\$30.000	\$1,170.00	
1	C S CONSTRUCTION, INC.			\$23.000	\$897.00	-23.3%
2	MERIDIAN ENGINEERING COMPANY			\$350.000	\$13,650.00	+1066.7%
2050001	SQ.YD.	GRADING ROADWAY FOR PAVEMENT				
Bid Rank	Department Estimate		146.000	\$65.000	\$9,490.00	
1	C S CONSTRUCTION, INC.			\$29.000	\$4,234.00	-55.4%
2	MERIDIAN ENGINEERING COMPANY			\$650.000	\$94,900.00	+900.0%
3030001	TON	AGGREGATE BASE, CLASS 1				
Bid Rank	Department Estimate		25.000	\$220.000	\$5,500.00	
1	C S CONSTRUCTION, INC.			\$350.000	\$8,750.00	+59.1%
2	MERIDIAN ENGINEERING COMPANY			\$2,000.000	\$50,000.00	+809.1%
4090003	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL)				
Bid Rank	Department Estimate		33.000	\$550.000	\$18,150.00	
1	C S CONSTRUCTION, INC.			\$2,515.000	\$82,995.00	+357.3%
2	MERIDIAN ENGINEERING COMPANY			\$4,500.000	\$148,500.00	+718.2%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank	Department Estimate		5,960.000	\$0.500	\$2,980.00	
1	C S CONSTRUCTION, INC.			\$0.350	\$2,086.00	-30.0%
2	MERIDIAN ENGINEERING COMPANY			\$1.000	\$5,960.00	+100.0%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department Estimate		600.000	\$1.000	\$600.00	
1	C S CONSTRUCTION, INC.			\$1.000	\$600.00	+0.0%
2	MERIDIAN ENGINEERING COMPANY			\$1.000	\$600.00	+0.0%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate		957.000	\$0.500	\$478.50	
1	C S CONSTRUCTION, INC.			\$0.350	\$334.95	-30.0%
2	MERIDIAN ENGINEERING COMPANY			\$1.000	\$957.00	+100.0%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate		6,492.000	\$0.500	\$3,246.00	
1	C S CONSTRUCTION, INC.			\$0.350	\$2,272.20	-30.0%
2	MERIDIAN ENGINEERING COMPANY			\$1.000	\$6,492.00	+100.0%

*** Bid Tabs for Proposal Pamphlet 2025029 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016039	EACH-DAY	EMBEDDED SIGN POST				
Bid Rank	Department Estimate		1,596.000	\$0.800	\$1,276.80	
1	C S CONSTRUCTION, INC.			\$1.200	\$1,915.20	+50.0%
2	MERIDIAN ENGINEERING COMPANY			\$1.000	\$1,596.00	+25.0%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank	Department Estimate		760.000	\$1.000	\$760.00	
1	C S CONSTRUCTION, INC.			\$0.350	\$266.00	-65.0%
2	MERIDIAN ENGINEERING COMPANY			\$1.000	\$760.00	+0.0%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank	Department Estimate		714.000	\$2.000	\$1,428.00	
1	C S CONSTRUCTION, INC.			\$0.400	\$285.60	-80.0%
2	MERIDIAN ENGINEERING COMPANY			\$1.000	\$714.00	-50.0%
7016061	EACH-DAY	FLASHING ARROW PANEL				
Bid Rank	Department Estimate		20.000	\$100.000	\$2,000.00	
1	C S CONSTRUCTION, INC.			\$42.000	\$840.00	-58.0%
2	MERIDIAN ENGINEERING COMPANY			\$90.000	\$1,800.00	-10.0%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		266.000	\$55.000	\$14,630.00	
1	C S CONSTRUCTION, INC.			\$71.000	\$18,886.00	+29.1%
2	MERIDIAN ENGINEERING COMPANY			\$320.000	\$85,120.00	+481.8%
7016069	L.FT.-DAY	TEMPORARY WATER-FILLED BARRIER				
Bid Rank	Department Estimate		3,600.000	\$3.000	\$10,800.00	
1	C S CONSTRUCTION, INC.			\$0.700	\$2,520.00	-76.7%
2	MERIDIAN ENGINEERING COMPANY			\$10.000	\$36,000.00	+233.3%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$170,000.000	\$170,000.00	
1	C S CONSTRUCTION, INC.			\$66,559.150	\$66,559.15	-60.8%
2	MERIDIAN ENGINEERING COMPANY			\$376,195.000	\$376,195.00	+121.3%
9030134	SQ.FT.	CONCRETE VALLEY GUTTER				
Bid Rank	Department Estimate		508.000	\$40.000	\$20,320.00	
1	C S CONSTRUCTION, INC.			\$40.000	\$20,320.00	+0.0%
2	MERIDIAN ENGINEERING COMPANY			\$100.000	\$50,800.00	+150.0%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$121,793.000	\$121,793.00	
1	C S CONSTRUCTION, INC.			\$25,000.000	\$25,000.00	-79.5%
2	MERIDIAN ENGINEERING COMPANY			\$175,000.000	\$175,000.00	+43.7%

*** Bid Tabs for Proposal Pamphlet 2025029 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020009	A	CU.YD. REMOVAL OF STRUCTURAL CONCRETE				
Bid Rank		Department Estimate	42.000	\$1,500.000	\$63,000.00	
1		C S CONSTRUCTION, INC.		\$3,274.000	\$137,508.00	+118.3%
2		MERIDIAN ENGINEERING COMPANY		\$8,000.000	\$336,000.00	+433.3%
2030501	A	CU.YD. STRUCTURAL EXCAVATION				
Bid Rank		Department Estimate	100.000	\$150.000	\$15,000.00	
1		C S CONSTRUCTION, INC.		\$80.000	\$8,000.00	-46.7%
2		MERIDIAN ENGINEERING COMPANY		\$12,700.000	\$1,270,000.00	+8366.7%
2030506	A	CU.YD. STRUCTURE BACKFILL				
Bid Rank		Department Estimate	35.000	\$250.000	\$8,750.00	
1		C S CONSTRUCTION, INC.		\$444.000	\$15,540.00	+77.6%
2		MERIDIAN ENGINEERING COMPANY		\$1,100.000	\$38,500.00	+340.0%
6010003	A	CU.YD. STRUCTURAL CONCRETE (CLASS S) (F'C = 3,500)				
Bid Rank		Department Estimate	45.000	\$2,000.000	\$90,000.00	
1		C S CONSTRUCTION, INC.		\$2,365.000	\$106,425.00	+18.3%
2		MERIDIAN ENGINEERING COMPANY		\$9,000.000	\$405,000.00	+350.0%
6010004	A	CU.YD. STRUCTURAL CONCRETE (CLASS S) (F'C = 4,000)				
Bid Rank		Department Estimate	5.000	\$3,500.000	\$17,500.00	
1		C S CONSTRUCTION, INC.		\$6,100.000	\$30,500.00	+74.3%
2		MERIDIAN ENGINEERING COMPANY		\$35,000.000	\$175,000.00	+900.0%
6010005	A	CU.YD. STRUCTURAL CONCRETE (CLASS S) (F'C = 4,500)				
Bid Rank		Department Estimate	26.000	\$3,500.000	\$91,000.00	
1		C S CONSTRUCTION, INC.		\$2,300.000	\$59,800.00	-34.3%
2		MERIDIAN ENGINEERING COMPANY		\$8,000.000	\$208,000.00	+128.6%
6050002	A	LB. REINFORCING STEEL				
Bid Rank		Department Estimate	10,073.000	\$2.500	\$25,182.50	
1		C S CONSTRUCTION, INC.		\$2.500	\$25,182.50	+0.0%
2		MERIDIAN ENGINEERING COMPANY		\$12.000	\$120,876.00	+380.0%
6050012	A	LB. REINFORCING STEEL (EPOXY COATED)				
Bid Rank		Department Estimate	6,618.000	\$3.500	\$23,163.00	
1		C S CONSTRUCTION, INC.		\$3.800	\$25,148.40	+8.6%
2		MERIDIAN ENGINEERING COMPANY		\$15.000	\$99,270.00	+328.6%
6050101	A	EACH PLACE DOWELS				
Bid Rank		Department Estimate	45.000	\$50.000	\$2,250.00	
1		C S CONSTRUCTION, INC.		\$72.000	\$3,240.00	+44.0%
2		MERIDIAN ENGINEERING COMPANY		\$200.000	\$9,000.00	+300.0%

*** Bid Tabs for Proposal Pamphlet 2025029 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6110200	A	L.FT. METAL HANDRAIL (MAG STD. DETAIL 145)				
Bid Rank		Department Estimate	25.000	\$75.000	\$1,875.00	
1		C S CONSTRUCTION, INC.		\$170.000	\$4,250.00	+126.7%
2		MERIDIAN ENGINEERING COMPANY		\$1,050.000	\$26,250.00	+1300.0%